
Subject: Re: Java(Sun) problem with kernel RHEL6 042stab055.10
Posted by khorenko on Tue, 17 Jul 2012 11:19:43 GMT
View Forum Message <> Reply to Message

Sorry for the delay.

Well, we found the reason of the problem: "--cpus 1" in fact currently does not make sure that
processes from the CT run on exactly a single physical cpu, it only ensures that the total cpu
power provided to the CT is not greater than the power of a single cpu =>

please just use "--cpulimit 100" instead of "--cpus 1"
or 
use "--cpus 1" along with the "--cpumask=X" option.
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